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Al 4.1x0.45+3.595%2.35+5.7x11.37+4.15x2.7 = B63Ie 655.93+48.11467.38+10.26+13+11.34+1.82 = B807.84#
A2 10.295x3.05+11.345x2.65+1.675x2.15+2.6x4.82 = 77.60« AL SR
A3 0.8x2.1742.8x5.075+2.5x3.52+6.775x3+8.375x2.75 86.86¢ > 807.84x10%=80.78¢
+0.45x1.675 = 6886« 86.86—80.78=6.084( At
Bl  B.37x2.8+6.77x3+2.75x8.37 = 66.77¢ SRR HERDRE
B2 6.15x1.47+8.55x2.33+5.6x9 = 79.36¢ 48.11-1.71=46.40¢¢ < 807.84x10%=80.78¢ ..0K
B3  4.6x2.65+4.27x3.45+6.715x6.4+1.45x2.17+3.5x6.15 = 94.57+¢ L e T

80.78+46.40=127.18¢ > 807.84x15%=121.18¢

Ol 1.8565.7545.3x1.33+7.44x0.6+1.15¢2.65 = 92160 127.18-121.18=6.00¢( i Asmansass)
€2 2x1.725+38x4.9742.45x2.375+7.425.675+3.78x5.3=  90.30¢ SHMERS
N = 655930 67.38+13+11.34+1.82=93 54¢
RIS RE (el 0%95)
L 813.92-46.40-93.54+6.00+6.08=686.06 ¢
A 1.0x3.775+4.34.3 = 93¢ () (o) (W Wi 57255
A2 3.795x1.0+1.95:26 = 887¢
A3 3x1.675 = 503¢
Bl 3x1.675 = 503¢
B2 2.4251+3.0x1.35 = 648¢ ZEErRN 8P
B3 4.27x1.675 = 715¢
Cl 368x1.675+1.11%1.6+3.38.0 = 11320¢ | REFP R
C2 2.97x1.8+1.0x3.35 = 870« H%A, B, CHI01 I AR74. 45N ; D] O A6 7.65M %,
A,BH0.35x1.5+1.35x1.3+1.425x14.675+1.35x1.275 = 49 HECNRATRE, SN0 EReON 052R
N = 86.86¢ ABE (11~21H) - wENETRR
(86.31479.95+68.11466.77+79.85+94.57)x11=5231.16 > 500¢
HUER N CH (11~210) — WERAARR (92.16+88.77)x11=1990.23¢ > 500¢
AW 0.85x1.05+3 4x3.4+3.76x2.68 = 2.30¢ DM (11~198) — wERATRA
BN 0.82x1.25+5.1x2.6 = 1429¢ (96.98+101.87)x3+(96.98+91.70)x6=1728.63¢ > 500¢
CH 225611 = 11500 EW (11~130) - smp 79.21479.95)x3=471.48¢ < 500¢
N = 4810 Far (11~130) - s 67.42+67.13)x3=40365 < 5000
UM BN A, EE TR
AW 0.65x1.05 = 068¢ ABH 3.76x2.68=10.08¢ > 10.00¢...0K
BN 0.82x1.2 = 103¢ CH  4.5:2.39+1.45:0.4=11.34¢ > 10.00¢%..0K
s = 1 e
A R & ey
SHERN ABH (17.36+17.25+10.08)=44.69¢
A 5.075x3.42 = 17360 > (86.31479.95+68.11466.77+79.85+94.57)x3%=14.27¢
BN 5.045x3.42 = 17.25¢ Cca §31.07+n.34 42410 > (92.16+88.77)3%=5.43¢
O 1.11x1.3+2.43x3.46+(4.5743.13)x0.72/2 DM (2551+1165)=37.16¢ > (89.55+83.10)x3%=5.18¢
3 H1.11x1.98+4.57x3.2+1.8¢1.85 = 27
. * W t EEERIY
]
*msasms = 505¢ M 1.25045+1.575:2.1741.652.725 = 848
3 B 24217 = Eog A2 1.675x2.625+2.325¢1.675 = B29¢
- - 1028¢ A3 1.7752.1+2.754.6 = B3¢
Bl 1.7752.1+2.75¢.6 = B3¢
B2 1.5x2.65+1.675x2.65 = B4l
“mg = 675¢ B3 1.625¢2.4+1.6x3.325 = 92
M = 13 €2 3.355.6+2.695¢1.725 = 1002¢
p RN -
I\ SRR nﬁ%ﬁﬁﬁﬁ OB 1.45x2.79+2.39x3.05 = N3 M 85.31-848 = T183¢
g 24x2.5+1x1.75+2.2x2.542.8x2.5+2.8x2.5¢1x1.75  =29.00¢ > 77.83/8=0.73 ...0K N = 1134¢ A2 716-8.29 = 693
Al L=452+7.92+2.93+1.47+0.85=17.69M < 40M A2 24x2.5+2.4x2.5+2.4x2.5+0.9x1.3+1.6x1.5 =2157¢ > 69.31/8=8.66 ...0K - A3 68.86-8.13 = 60.73¢
A2 L=4.61+6.23+3.45+1.47+0.85=16.61M < 40M A3 2.2x2.5+2x2.5+0.84x2.5+1x2.5+1.2x1.5 =16.90¢ > 60.73/8=7.59 ..0K BRRRY SUTERA Bl 66.77-813 = 5864
A3 L=38143.49+4.67+3.31+1.47+0.85=17.6M < 4OM Bl  24x2.5+.8x2.5+0.84x2.5+1x2.5+1.4x1.5 =17.20¢ > 58.64/8=7.33 ...0K V7 e A BNO.55x1.65¢2 = 1820 B2 79.85-841 = Tl44e
BI  L=1.97+5.98+6.85+1.02+0.75=16.57 < 40M B2 24x2.5+2.425+2.22.5H 4x1.B+1x1.75+1.6x1.4 =24.01¢ > 71.44/8=8.93 ..0K - N = 182¢ B3 9391-9.22 = B8460¢
B2 L=4.6+6.55+5.2241.05+1.02+0.75=19.19M < 4OM B3 24x2.5+2.4(25+2.4x2.5+2425+1.6x1.5 =2540¢ > 85.35/8=1067 ..0K 1% ' C1 9216-9.22 = B294¢
B3 L=4.63+4.69+3.45+2.61+1.05+1.02+0.75=18.2M < 40M O 24x2.5+2.4x2.5+2.4x2.5+2x2.5+1.6x1.5 =25.40¢" > 82.94/8=10.37 ...0K C2 88.77-10.02 = 7875¢
Gl L=4746.8201324152-1430M < 40N €2 24x25+24x25+2425H 6x1.5+1x1.75 =2215¢ > 7875/8=084 .k  [EEEReT R
L=0.61+4.4=14.01M < i
= wina
| Cogn:
Al L=4.52+7.9242.93+1.47+0.85=17.60M < 20M EE]e
A2 L=46146.23+3.45+.47+0.85=16.61M < 20M
A3 L=4.46+2.57+4.63+2.48+1.47+0,85=16.46M < 20M
Bl L=4.57+2.9647.69+1.02+0.75=16.99M < 20M
B2 L=4.6+6.55+5.2241.05+1.02+0.75=19.19M < 20M
B3 L=4.63+4.69+345+2.61+1.05+1.02+0.75=18.2M < 20M
C1 L=4.7+6.82+1.32+1.52=14.36M < 20
€2 L=9.61+4.4=14.01M < 20
M11-42 = L K & # 3 3 B(S=1/300)
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- ,:‘ > L Y - L A ga N | "3"‘ A4 3 A4 1 i > > W s ,L
- =1-B &P BHREREE = it R
EXER SbER
Al 4.1x0.45+3.595x2.35+5.7x11.37+4.15x2.7 = 8.3 §55.03+48.11+67.38+10.26+13+11.34+1.82 = 807.84
A2 10.205x3.05+11.345x2.65+1.675x2.15¢2.6x4.82 = 77.60¢ BA R ERER
A3 0.82.17+2.865.075+2.5¢3.52+6.T75x3+8.375x2.75 87.98¢ > 807.84x10%=80.78¢
+0.45x1.675 = 6886 87.98-80.78=7.20#{ i AsmmesEn)
B B.37x2.8+6.77x3+2.758.37 = 66.77¢ SEEHANERE
B2 6.15x1.47+8.55¢2.33+5.6x9 = 79.36¢ 48.11-1.71=46.400 < 807.84x10%=80.78¢ ...0K
B3 4.6x2.65+4.27x3.45+6.715¢6.4+1.45x2.17435¢6.15 = 9457¢ HRANER
Cl 1.85¢5.75+5.3x1.33+7.44x9.6+1.15x2.65 = 9216¢ 80.78+46.40=127.18¢ > 807.84x15%=121.18¢
C2 2x1.725+3.8x4.97+2.45¢2.375+7.4265.675+3.78:5.3=  90.30¢ 127.18-121.18=6.00#{ tAmmasEN)
N = 65593¢ SRTERES
67.38+13+11.34+1.82=93 54¢
BeEN BRI ()
Al 1.0x3.775+4.3x1.3 = 937¢ 815.04-46.40-93.54+6.00+ 7.20=688.30¢
A2 3.795x1.0+1.95¢26 = 887¢ () () (s MBI 5%85)
A3 31675 = 503¢
Bl 31.675 = 503¢
B2 1.35¢3.0+3.55¢.0 = 760¢
B3 4271675 = 145¢ = EBF#mst 8F
Cl 3.6841.675+1.11%1.6+3.3841.0 = 11320
€2 2.97x1.8+1.0x3.35 = 870¢ N REApEREinst
A,B¥0.35x1.5+1.35x1.3+1.425x14.6 75+1.35x1.275 = 2491¢ $%A B, CHA1 M AR74. 45N DMK O ANG7.65M %,
Nt = B87.98¢ SO, SRR 05 2R
ABN (11~210) — wEREIRR
HAERN (86.31+79.95+68.11+66.77+79.85+94,57)x11=5231.16 > 500¢
AR 0.65x1.05+3.4x3.4+3.76x2.68 = 230 CH (11~218) - wERGWR (92.16+88.77)x11=1990.23¢ > 500¢
BN 0.824.25+5.1x26 = 1420¢ D (11~108) - EENER
cH 225611 = 1150 (96.98+101.87)x3+(96.98+91.70)x6=1728.63¢ > 500¢
M = 481 ] n~|33 - sn in.21+79.95 =477.48¢ < 500¢
P Fit (11~130) — sen 67.42+67.13)x3=40365 < 500¢
AM 0.65¢.05 = 08¢ T, HEEE R
BN 0.82x1.2 = 1.03¢ AB¥ 3.76x2.68=10.08¢ > 10.00¢...0K
A = 17 CH  45¢2.39+1.45x0.4=11.34¢ > 10.00¥...0K
saanin A R SEng
AR 5.075¢3.42 = 17.36¢ ABH (17.36+17.25+10.08)=44.69¢
BE 5.045¢3.42 = 17.25¢ > (86.31479.95+68.11+66.77479.85+94.57)x3%=14.27¢
CH 1.11x1.3+2.43x3.46+(4.57+3.13)x0.72/2 CH  (31.07411.34)=42.41¢ > (92.16+88.77)x3%=5.43¢
” +1.11x1.98+4.57x3.2+1.841.85 g;_g: DE  (2551+11.65)=37.16¢ > (89.55+83.10)x3%=5.18¢
t EEE#E
FRMERN P
AR 2.35:215 = 505¢ A 1.25045+1.575217+1.652.725 =  B848¢
BE 2.4x217 = 521 A2 1.675x2.625+2.325x1.675 = B29¢
o = 1026¢ A3 1.775x2.142.75¢.6 = B3¢
Bl 1.775x2.142.75¢.6 = 813
R3 R B2 1.5x2.65+1.675:2.65 = BAIN
ABN2.7x2.5 = 675¢ B3 1.625x2.4+1.6x3.325 = 922¢
CH 245255 = §.25¢ 1 1.625¢2.4+1.6x3.325 = 922¢
nt = 13¢ €2 3.355x1.6+2.695¢.725 = 1002¢
HECRRN EZER
= CH 1.45x2.79+2.39x3.05 = 11.34¢ M B86.31-8.48 = 77.83¢
N\ HTIREE T Rt i » = N3 A2 77.6-829 = 693
) Al 24x25+IX1.75+2.262.5+¢2.82.5+2.8x2.5+1x1.75 =29.00¢ > 77.83/8=9.73 ..0K 7 = A3 6886-813 - 6073¢
Al L=4.5247.9242.93+1.4740.85=17.69M < 40M A2 2.4x2.5+2.4x2.5+2.4x2.5+0.9¢1.3+1.6x1.5 =21.57¢ > 69.31/8=8.66 ...0K - ONTERIN Bl 6677-813 = Sa64e
A2 L=4.6146.23+3.45+1.47+0.85=16.61M < 40M A3 2.2x2.5+2x2.5+0.84x2 5+1x2.541.24.5 =16.90¢ > 60.73/8=7.59 ...0K R e2n ABH0.55x1.65x2 - 1824 B2 79.85-8.41 — 4ae
A3 L=3.8143.49+4.67+3.3141.47+0.85=17.6M < 40M Bl 2.4x2.5+1.8x2.5+0. B2 5+1x2.5+1.4x1.5 =17.20¢ > 58.64/8=7.33 ...0K 777 e ey - 1824 B3 9391-9.22 - BABOR
Bl L=1.97+5.98+6.85+1.0240.75=16.57M < 40M B2 2.4x2.5+2.4x2.5+2.22.5+1.41.8+1x1.75+1.6x1.4 =24.01¢ > 71.44/8=8.93 ..0K 4 o 9216-9.22 - B2o4¢
B2 L=4.6+6.55+5.2241.05+1.02+0.75=19.19M < 40M B3 2.4x2.5+2.4x2.5+2.4x2.5+2x2.5+1.6x1.5 =25.40¢ > 85.35/8=10.67 ...0K B 2 BR77-1002 = 7875¢
B3 L=4.63+4.69+3.45+2.61+1.05+1.02+0.75=18.24 < 40M C 2.4x2.5+2.4x2.5+24x2.5+262.5+1.6x1.5 =25.40¢ > 82.94/8=10.37 ...0K :
Ol L=4.7+6.8241.32+1.52=14.36M < 40M 02 24x25+2.42.5+24x2.5+.6x1.5+11.75 =22.15¢ > 78.75/8=9.84 ...0K ) arten
€2 L=9.61+4.4=14.01M < 40M ===
—— ]
AT
Al L=4.5247.9242.93+1.4740.85=17.69M < 20M A8
A2 L=4.6146.23+3.45+1.47+0.85=16.61M < 20M
A3 L=4.46+2.57+4.63+2.48+1.47+0.85=16.46M < 20M
Bl L=4.57+2.96+7.69+1.02+0.75=16.99M < 20M
B2 L=4.6+6.55+5.22+1.05+1.02+0.75=19.19M < 20M
B3 L=4.63+4.69+3 45+2.6141.0541.0240.75=18.2M < 20M
O L=4.7+6.82+1.32+1.52=14.36M < 20M
€2 L=0.61+4.4=14.01M < 20M
B|11-44 - -+ - /é] " 7}%3*% g](SZl/SOO)
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